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%, x=2
BEAAR & X 17 A R B
0, x<0

f Sy, 0 Lx<2
F(x): 0

1
4
21 ‘\'1 A_‘i -
—dx 4+ | —Sdx,x=2 1 ,x=2
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= P{0 < X <arcsiny} + P{n —arcsiny < X < x}

= F (arcsiny) — Fy (0) + Fy () — Fy (n — arcsiny)
TRA
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4x(1—x2),0=<x <1
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0, else
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1 2x 4 25— 37
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3.6. B (DB XA Y FHMNIDGHEERERECH v (), £ (), W

1,xe[0, 1] 2y>0

Sx ()= {O, else
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5 else

R BB XA Y HTE T, ICK, Y) B A o R R
S =@ Sy ()= 5e

1]
Lg
f(x,y)={2 ’
03
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P(X*=Y)=P{(x,y)eD}= Jldxsz 4 e_%dy = J'](lée_%:)dle jle_gdx

] 0 2 0 0

=1—2n[@(1)— ®(0)]=1—+/27(0.8413 — 0.5)=0.1445.0
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Z=X+Y| 1 |2|3]|4 Z=XY|0|1]3
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Z=XY 0 0 0 -1 0 1
FTLZ = XY [0 ARt A
Z=Xr —l|0|1
1 [1]1.0
P 3‘3‘3

3.9. fR: BEHLER XA Y SAMEMMER SN

21 M



wulin0919@nuaa.edu.cn

-4 )
A]ke ! /15"6 2

P(X=k)= o P(Y=k)= IR k=0,1,2, -
Fitlz=x+v, FfbA
k k k Ase-l. k—ie-fl:
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0, else
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0, else
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0

Y= 1NAE
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Fo=P(Z<z)= ﬂmmﬂx,y)dxdy - fj“?y"f(x,y)dx]dy

Efizléjij[f;f(Z;Jﬂy}m]Qz==%I;[j:jf(zgjﬂy}bﬁdu
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BNBENLAE B Z = 2x + v RIBESR 2 B e 0N

%(l—e'z),0<z<2

fz(z)z _;_(ez—z _e-z),z 22 D
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_liz. Lz xZ y2
_# 2(af+a'22)_ 1 -T,IZ 1 -thz_
f(xay)_ 27[0'10'26 — "27[0'16 f_zno_ze = X(x)fY(y)
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e x>0
else

WG R BON Py (x):{;- . TRA
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1sisn
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BUE FEEENHFHIE
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P13512]5|10
x [-1lo1]2
X2 [1]ol1] a4
2xX2+30 53[5/ 11
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x 1 | 1 1
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- 1 1 1 1
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u 1 1 1 1
2. — — . — . — —_ —
EQX +3)f;P,,xff5 S+ 53+ 5 S+ g5 11=4.60
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42. e BENVEREX (IEHIERECH S ()= 3¢, xe R, FRA

E(X)= f = DG % f e Ug
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+ oo + o
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0
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n=0
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n=0
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E(|Z|)=m-\/%=\/7@

GHiF =D

+ o0 1 J‘+no - 22’
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D(12)= £(121%) — £*(12) = (o> + - 2 (1= 2) o2 4100
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4.5 R EBEA M TS
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fx(x)= J f(xy)dy = f

0

1

12y7dx =12y (1— y)

x

12y2dy = 4x>; f,(y)= J fey)dx = J
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E(X)= fjxfx(x)dx = f Axtdx =

0

TIES

.0

h|w

E(Y)= f _myfy(y)dy = f 12)°(1— y)dy =

0
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46. ff: REFISHBRAF i SG&TFFX.=1; HFFISHRRBAE i S&ETFH X, =0,

0 AP E X TR = > X WP =D= 1, i=1,2, 0, FRHA
i=1

- 3 ~ 1 1
E(X):E(;X,):;E(X,) =;1- —=n+ - =10

47. f8: W YRR RHFERERENRE, TEE
P(Y =0)=C!,0.97-0.1+0.9""=0.736099
P(Y =1)=1— P(¥ =0)=10.263901
NIBEHLAS & Y AR

Y| o | 1
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e

E(Y)=0-0.736099 +1-0.263901 =0.263901
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4.8. . WHE-SR&REFA Y, W Y WTEEAEBERN 100, -200, T£ZH
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1

1 x = 1 b i &
=1— f e 4d(i)zl— I4efdzl—(—e‘)|0 —(1—3 4)6 4
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E(Y)=100-¢ 4—2‘00-(1—6: 4)*3006: 4 —200=33.6(7uv).0

4.9. JEBR: VEEE

D(X)=E(X*)—E*(X)=E{(X—C)’+2CX—C*}— E*(X)
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4.10. fi#: ELEEAAE XT3

]

E(X)= J‘+°° J+mxf(x,y)dxdy = [I fxxdxdy = IIszdx = %
E(Y)=f mj' myf(x,y)dxdy = f fxydxdy =0

] x

E(XY)J j xyf(x,y)dxdyj J xydxdy =0

0 -

1

Cov(X,)=E(XY)—E(X)E(Y)=0.0
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e
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4.11. fB: (OXMYMEMST, TREEX)=EX)EY); D(X+Y)=D(X)+D(), 7]

73
E(Z)=E(X—Y +15)=5E(X)—E(Y)+15=5-3—1+15=29
D(Z)=D(5X—Y +15)=5D(X)+D(¥)=5>-4+9=109

QXM Y AR, FREFEXN=EX)EX); D(X+Y)=D(X)+D(Y), A

E(Z)=E(5X—Y +15)=5E(X)—E(Y)+15=5-3—1+15=29
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4.12. . HAEEAHE THE
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4o Vi
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e ViE T
i
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T2 XA Y Asr, FLHE
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E(X):J J xf(x,y)dxdyzlf I xdxdyzzj xV1—x*dx =0
- - -1 2 -1

n =y l=x n

+ + oo 1 1 m 2 1
E(Y)ZJ f yf(x,y)dxdyZI J ydrdy:f yW1—y*dy =0
s o L2 T =7 T,

+ o + o> 1 1 \/:
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